MTHE34 - Topology (Quiz No. 3)

Quiz Start

Question #1of 10 ( start time: 06:50:46 AM, 15 February 2022)

Which of the lollowing sturement 5 Inlza?
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Select the correct option

Decrele topology on a countoble 1ot X i econd cournable

Any finite set with any topology i second countable

Pacrelo topology on arenl line B s second countabla o

O The set K with usual topalogy is second countable.
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Question # 2 of 10 ( start time: 06:52:02 AM, 1S February 2022 )

tvery Topological Spoce iz a first countaobla space

Select the correct option

Falsa

True

el P
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MTHE34 - Topology (Quiz No. 3) Quiz Start Time: 06:50 AM, 15 February 2022

Question # 6 of 10 ( Start time: 06:54:20 AM. 15 February 2022) Totol Marks:

et X = {1,2,3,4,5,6} anat == {0, {1}, {2}, {1,2}, X} be ntopclogy on X.then the lccalbaze ( B, Jotthepoint x = 3, 4,5 ______ \

select the correct
-

{{23,{1,2), x} |

{1 2hx)y

Horme of tham

(x}

.,_

O

o
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| MTHE34 - Topology (QuizNo. 3) Quizstart Ti

Question # 4 of 10 ( start time: 06:53:37 AM, 15 February 2022)

letX={1,2,3, 4.5, 6 ondr= (S, 13L14),(3.4). X ba o topology on X then which of the loflowing is true?

select the correct option

The set {3, 131, 14), X} 15 an open cover of the sat (4)

_ | The set [B,{3), 14)) i3 an open sub-cover of (D, (31, 141.0)

The set{, (1), {41] = an open cover of the =et (4)

o All of thern
) \/
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MTH634 - Topology (Quiz No. 3)

Question # 3 of 10 ( Start time: 06:52:48 AM, 15 February 2022)

tet X = (1,2,3,4) and 1 = {2, 1), {2}, {1. 2, X] be a topciogy en X. then which of the fallowing is true 7

Download More Quizzes Files From
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select the correct option

LX, 1) be o 1opalogcol spoce

very elerent of X has counloble locnl bose

(r__} All of therm /

LX. 1) bo a lirst countoble spoce
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MTHE34 - Topology (Quiz No. 3) Quiz start Time: 06:50 AM, 15 February 20;

Question # 10 of 10 ( Start time: 07:00:57 AM. 15 February 2022 Total Marks

et X = (1,2, 3,4) and £ = {2, {1), {2), {1, 2}, X] be o topasiogy en X, then which of the following is NOT true 7

Select the correct option
.

- The local base of the glemeant 4 15 O
O Aor B
) or

tvery element of X hau uncountatles locaol base

LY, 1) be o first countobie spoce

LY. 1) be o topologcal tpoce
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Quiz Start Time: 06:50 AM, 15 February 2022

WITH634 - Topelegy (Quiz No. 3)

Juestion # 9 of 10 ( Start time: 0659 45 AM, 15 February 2022 ) Total Marks: |

It SXS has more than two pointa and S\eh| (X \tau ) \night)S be an mdiscrete topalagy then wiuch of the followng slatemeant is Tue about SMeft( (X.\tau ) \nght)s
?

Select the correct option

It s not metnzable /

| Mone of tham

i 11 s metrizable
oy
\_J

It is Haussdorfl )

|
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Separable Spaces

Def:
A topological space (X,7) is
said to be "Separable" if
there exists a countable
dense subset A of X.
e
4 A C X such that

1. Ais countable,

2. A= X,

Download More Quizzes Files From

VVVVVVVVVVVV

Scanned with CamScanner



MTHE34 - Topology (Quiz Ne.3)

Question # 7 of 10 ( Start time: 12:29:21 M, 15 February 2022 )

i 8\ leftf [x\tau | Yrght)s be o separable topology then § must have countable dente st

Download More Quizzes Files From

VUANnswer.com

select the correct option

Falsa

T
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MTHE34 - Topelogy [Qulz No. 3) Quiz Start Time: 12:28 PM, IS February 2022

Question # 10 of 10 { stort time: 12:315 PM, 15 February 2022) Total Marks:!

et X = .[u,!n, r} prd T = {H, '["I" {h}, {u,h}u".'ll 2 & tespeeyy on X, f £ = {ﬂ. Id]-, {ﬁ}. .\'] bse e bere al T, thon whsch of tha [ollesng s
Irue 2
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B be the countoble basa.

(X, 7) ba o first countable tooco

Al of Eram /

(X, 7) bo 0 second counlable space
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MTHE34 - Topology (QuizNe. 3) Quiz Start Time: 1228 PM, 15 February 2022 |

Question # 6 of 10 { Start time: 12:28.17 P4, 1S February 2022) Total Marlks: 1

ot X = {1,2,3,4,5,6} ona r = {0,{1},{2},{1,2}, X} be atopology on X, than the local base (1, Jolthepoint s = 2is ...

e

{{1).1.2).{2}. X}

{{2h 48,2} x}

~"

tione of tham

{142}, x}
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MTHE34 - Topology (Quiz No. 3)

Question # 3 of 10 ( Start time:12:27:18 P, 15 February 2022 )

Fuary mattic spoce it firet countabie

select the correct option

True

ownload More Quizzes Files From
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MTHE34 - Topology (Quiz Ne. 3) Quiz start Th

Question # 4 of 10 { $tart time: 12:27:47 P, 15 February 2022)

tet X = (a,b,c) and r = {0, {a}, {a,b}, X} be a topoiogy on X, then which of the following is NOT true 2

Select the correct option l

(X, ) be a second countoble spoce. _ _
‘/ Download More Quizzes Files From

VVUAnswer com

(X, 7) bo o Topologeal spoce

(X, 7} be o firmt cauntablo spocae,

All of them
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MTHE)4 - Topology (Quiz No. 3) Quiz Start Time:12:26 PM, 1S Februa

Question & 8 of 10 ( Start time: 12:28:48 PM, 15 February 2022 ) Total|

et X = {1,2,3,4,5, 6} anar = {0,{1},{2}, {I,'.."}..T] bo a topology on X than tha local base ( IT, Joltheportr = 1w_______

select the correct option

{{1).42).x)

Hornd of Tharm

{{1},{1.2}. x} / Download More Quizzes Files From

VUANnswer.com

{{1}-42},{1.2}. x}
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MTHE34 - Topology (Quiz Ne. 3) Quiz start Time:|

Question # 2 of 10  Start time: 12:26:52 PM, 15 February 2022 )

0 of ==y
Metric topology induced by d(s, y) = { 1 if 27y bsealled) \\ )\ \

select the correct option E

V/

discrete topology

michzcrete lopology

riona of tharm

w=ual tepal oy
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MTHE14 - Topology (Quiz No. 3) Quiz Start Time: 12

qQuestion # 9 of 10 ( Start time: 12:23:49 PM, 15 February 2022 )

et X = “.1. 2.3.4.5, ['II and ® = lﬂ. IJI'. t-i:l* {3. -I-}_. ,\I} e o loockagy on X then which of the 1ollowing it trua?

Select the correct option E

| e sen {1, {3}} & on coen cowe of the set {4)

| ™o vt [0, (3}, {4}) s on opien cover cf th ver {4} Download More Quizzes Files From
(-3 J

VUAnNnswer.com

beorma o thern

| reae [0, (3], { L}} 13 an open cover of tra ser {2)
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MTHE34 - Topology (Quiz No. 3)

Question # 7 of 10 ( start time: 12:22:10 M. 15 February 2022)

Wheoh of the following totement is true?
Download More Quizzes Files From
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select the correct option
All spoces ore rot metnrable

O v

—

Al e ore mairientle
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MTHE34 - Topology (Quiz Na, 3)

Question # 6 of 10 ( Start time: 12:12:51 PM. 15 February 2022)

L&t {.'l'_ r} be a metrooble than whoh of the followng stotemant s trua

Select the correct option

Al af theen

® v

(X, ) is separobis

[.T. r} ey tha colgtolia chon collestinn

(X, 7) Iz socond countable.
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MTHE34 - Topology (Quiz No. 3) Quiz start Tim

Question # 3 of 10 ( start time: 12:17:38 PM, 1S Februery 2022)

et X = {1,2,3,4) o == {0,{1}, {2}, {1,2}. X} be o topciogy en X. then which of the Ictosng 15 e 2

Download More Quizzes Files From
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Select the correct option

(X, r) be a topalogice spoce

tvery plomert of X hm courtatle bool base

(X, r) be a tret countoble wpace.

' All & 1harm /
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MTHB34 - Topology (Quiz Mo. 3) Quiz 3tart Time: 10:30 Am, 15 reb

Question & 10 of 10 { Stowrt time: 10-37-07 AM, 15 February 2022) Te

Metric topology indueed by d{r, ) = |2 — ylon R s eallsd' 0\ N\

Select the correct option

-

Bohie of B

nascrete topology

wsLey lopalogy

gdizcrete topoogy
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_umuu-rup-nlqﬂmun.:] Quiz Start Time: 10:50 AM, 15 February 20,

Question # 10 of 10  start time: 1:06:04 AM, 15 February 2022 ) Total Mark:

et X = {l, 2,3, -I]r ol T = {1]. {1,2}. {3,1},.’!’} Eratopoegyon X ord A = {2.3} i1 0 donse set then which of the following s trues

sSelect the correct
-

(‘) I_.\.', 1‘] mar or My Not be o separoble opeiogy

(X, 7} must b & separoibls topology &  Download More Quizzes Files From

VUAnNnswer.com

{1,2} s aclosed sst

Hionda of [Haem
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MTHE34 - Topology (gQuiz No. 3)

Quiz start Time: 10:59

Question & 8 of 10 { Start time: 11:04:20 AM, 15 February 2022)

ot X ={1,2,3,4,5,6}ana r = {0,{3}, {4}, {3,4}, X} be atepolagy on X, then which of the Iallowing iz rue?

Download More Quizzes Files From

: VUAnNnswer.com
select the correct option

(--.] a7 of therm ¢

Tl se {L", {3}, {-IH- fa o Dy coyer of tha ol {-”

T g [I]-, {3]- «{-I}, .\.':l 1w cn open cover of tha set {-1]-

the set {1}, {4}} = on open cover of the set {4}
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' MTH634 - Topology (Quiz No. 3) Quiz S

Question # 101 10 ( Start time: 10:59:08 AM, 15 February 2022 )

tet X = {1,2,3,4,5,6} ana7 = {0, {3}, {4}, {3.4}, X'} be atopology on X, then which of the following

Select the correct option

The set {0, {3}, {4}, X} is an open cover of the set {4}.

The set{0, {3}, {4}} Is an open cover of the set {4}.

The set {0, {3}, {4}} Is an open sub-cover ot {0, {3}, {4}, X'}.

All of them

D] O
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